Leeming Senior High School



YEAR NINE 2025 25 942 09 B

ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 6th December 2024 Using "38JH" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

HOME DELIVERY

Your order will be delivered by the 28th January 2025 for \$8.00, if placed on or before the return date of Friday 6th December 2024.

Orders placed after the return date will incur a late fee of up to \$17.50. If ordering later please allow sufficient time for delivery to occur prior to the commencement of the school year.

Please refer to our website @ www.Campion.com.au for all up-to-date information and terms & conditions.



Your Campion Store 25B BAILE ROAD CANNING VALE WA 6155 Contact Us 08 6240 2778 help@campion.com.au

Please tick the items required in the box provided ☑ ltem Item Unit Qty Total Office Use Description No. Reqd Reqd Price \$ Amount \$ YEAR NINE COMPULSORY DIARY F75212 Year 9 Leeming Senior High School PERMAH Curriculum Diary 16.82 16.82 1 1 (Please provide payment to Campion. Diaries will be distributed at the school.) PLEASE SELECT OPTION A OR INDIVIDUAL ITEMS IN OPTION B Option A P78188 Secondary Stationery Pack 2 1 65.00 65.00 COMPLETE SECONDARY STATIONERY PACK WITH REDUCED PRICING Retail Price: \$75.70 Cost Saving: \$10.70 **Resource List Special Price: \$65.00** OR **Option B** SELECT INDIVIDUAL ITEMS AS REQUIRED P55110 Binder A4 2D Ring 25mm PE Black 3 1 5.45 5.45 P55442 4 Display Book A4 20 Pocket Black Refillable 1 2.15 2.15 P55449 Display Book A4 20 Pocket Red Refillable 5 1 2.15 2.15 P50281 Document Envelope A4 PP With Press Stud Clear 6 1.25 1.25 1 P50694 Document Envelope A4 PP With Press Stud Red 7 1 1.25 1.25 P58510 Eraser Plastic Pencil Large With Sleeve 8 2 0.40 0.80 P50450 Exercise Book A4 64 Page 8mm with Margin Spirax #106 9 4 1.30 5.20 2 P50451 Exercise Book A4 96 Page 8mm with Margin Spirax #108 10 1.65 3.30 P51353 Glue Stick 40gm Artline Purple 11 1 2.75 2.75 P51157 Highlighters Pkt 4 Micador ECO 12 1 3.60 3.60 P56388 Loose Leaf Refills Reinforced A4 7mm Pkt 100 13 3.95 3.95 1 P50113 Markers Faber Project Wallet 12 Assorted 14 1 3.60 3.60 P56213 Pencil Case 340x170mm Name Large 15 1 3.50 3.50 P56252 Pencils-Coloured 12's Colourush 16 1 4.60 4.60 P50006 Pencil (HB) Micador Essential 3 0.35 1 0 5 17 P52001 2 1.30 Pencil (2B) Goldfaber 18 0.65 P56094 2 Pen Ballpoint Cap Type Black Medium 19 0.35 0.70 P56095 Pen Ballpoint Cap Type Blue Medium 20 4 0.35 1.40 P56096 Pen Ballpoint Cap Type Red Medium 4 21 0.35 1.40 P56329 Pocket Plastic A4 11 Hole Box 100 22 1 7.10 7.10 P56414 Ruler 300mm Plastic Clear 23 1 0.75 0.75 P50161 Scissors 170mm Maped Plastic Handle 24 2.30 2.30 1 P56242 Sharpener Pencil Barrel Double Hole (EL) 25 1 2.10 2.10 P52086 USB Pocket Flash Drive 32GB - NO RETURNS 14.05 14.05 26 1 THE ITEMS BELOW ARE NOT IN THE STATIONERY PACK. PLEASE SELECT AS REQUIRED P55394 Correction Pen (Liquid Paper) 5.90 5.90 27 1 P50383 Stapler #10 & Staples Little Gem Colby 28 1 4.75 4.75 ART 1 & 2 P55439 Display Book A3 20 Pocket Black Insert Cover (Non-Ref) 29 1 9.55 9.55

DANCE

Requirements will be communicated to parents at the beginning of the course.

Please tick the items required in the box provided $\ \downarrow$

Office Use	Description	ltem No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
P55494	DRAMA	00	_		4.40	4.40
P50451	Document Wallet FC Slimpick Green Exercise Book A4 96 Page 8mm with Margin Spirax #108	30 31		1	1.10 1.65	1.10 1.65
1 00401	Exercise Book A4 90 Page on in with wargin Spirax #100	31		I	1.05	1.05
	ENGLISH					
	Compulsory for MAINSTREAM students:					
P02055	Boy in the Striped Pyjamas, The (10th Anniversary Edn) [John Boyne]	32		1	19.99	19.99
P03786	Compulsory for AEP students: Animal Farm (Penguin Student Edn) [George Orwell]	33		1	14.99	14.99
1 00700	The following items apply to ALL STUDENTS: MAINSTREAM AND AEP.		ave selecter	•		
	may not be required.	ii you iii				ing items
P55494	Document Wallet FC Slimpick Green	34		1	1.10	1.10
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	35		2	1.65	3.30
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	36		1	3.95	3.95
P56092	Pen Ballpoint Cap Type Med Pack of 5 (3Blue/1Black/1Red)	37		1	1.70	1.70
	FLIGHT SCHOOL					
P55442	Display Book A4 20 Pocket Black Refillable	38		1	2.15	2.15
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	39		1	1.65	1.65
	FRENCH					
P09124	Quoi de Neuf? 3&4 (Activity Book) 2E [Comley et al]	40		1	37.74	37.74
	(Activity Book to be used in Years 9 & 10.)		—			
	(All stationery items are interchangeable for other brands and sets.)					
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	41		2	1.65	3.30
	HEALTH EDUCATION					
	No text required.					
P55652	Glue Stick 36gm	42		1	2.30	2.30
P55953	Notebook A4 250 Page 5 Subject Colourhide Assorted Colours	43		1	11.50	11.50
P58507	Scissors 155mm Plastic Handle	44		1	2.95	2.95
	HUMANITIES AND SOCIAL SCIENCES					
P55498	Document Wallet FC Slimpick Yellow	45		1	1.10	1.10
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	46		2	2.15	4.30
P15534	JAPANESE	47		1	49.95	49.95
1 10004	Obento Supreme - Workbook (Print & Digital) 5E [Fisher et al] (To be retained for use in Year 10)	47		I	49.95	49.95
P55442	Display Book A4 20 Pocket Black Refillable	48		1	2.15	2.15
P55578	Graph Book A4 48 page 10mm Grid Squares Spirax #130	49		2	1.25	2.50
P51464	Headphones Stereo Deluxe Lightweight with Volume Control	50		1	11.05	11.05
	(Please retain from previous year. Only new students need to purchase	.)				
	MATHEMATICS					
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	51		1	41.95	41.95
	(Calculator is compulsory. Can be used across multiple subjects)	•				
	(Retain from previous year)					
P55343	Compass Micador Self-Centering 140mm Safety #325	52		1	1.25	1.25
P50451	(Compass is compulsory)	E0		0	4.05	2.00
P50451 P52996	Exercise Book A4 96 Page 8mm with Margin Spirax #108 Mathomat V3 - Designer Pack in wallet with Poster Revised	53 54		2 1	1.65 14.45	3.30 14.45
1 02000	(Mathomat v3 - Designer Pack in Wallet with Poster Revised (Mathomat is optional)	54		I	14.43	14.40
P56353	Protractor 10 cm 180 4" Half Circle	55		1	0.45	0.45
	(Protractor is compulsory)					

Please tick the items required in the box provided \downarrow

Office Use	Description	ltem No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
P50451	MEDIA - FILM AND TV Parents to Supply: SanDisk Ultra 32GB microSDXC SQUA4 Memory Card Exercise Book A4 96 Page 8mm with Margin Spirax #108	56		2	1.65	3.30
P52506	MUSIC Music Book A4 48 Page Ruled & Staved Spirax 243	57		1	2.20	2.20
P55487 P50451	SCIENCE Document Wallet FC Polydoc Red Exercise Book A4 96 Page 8mm with Margin Spirax #108	58 59		1 2	2.50 1.65	2.50 3.30

Number of Boxes ticked:

\$8.00

ESTIMATED AMOUNT DUE (PRICES CORRECT AT 05/11/24)

Postage (Home delivery only)

\$